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Find the product of the following polynomials. Write the product in standard form, classify the polynomial

by degree/number of terms and describe the end behavior.
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Factor the following polynomials completely.
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Determine the zeros of each polynomial. If there are any multiples list them. Sketch a graph of the function.
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Write the equation in factored form of the given graph. Pay attention to multiplicities.
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30) Based on the end behavior, match each function with it’s graph. Be able to
explain how you made each decision.
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